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First Semester Three Year LL.B./Fifth Semester Five Year B.A. LL.B./B.B.A.LL.B
Examination, January 2012
CRIMINAL LAW - I(Indian Penal Code) (Course — V)

Duration : 3 Hours Max. Marks : 100
Instructions: 1. Answer all 5 questions.
2. One essay type and one short note question or problem from
each Unit have to be attempted, which is referred as Part (a)
and (b) in all the Units.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada
completely.

UNIT -1

Q. No. 1. (a) Explain various types of punishments to which offenders are
liable under the Indian Penal Code. Marks : 15

2IR0EC0T TWOR R0&B0D LRONE) BTN LCTWTITRT WG
SEMIRO QTORO.

OR/&5s

Explain the different stages of crime.

2,000 SBOVGE DT TBOBNTR), DBORO.

(b) Write short notes on ‘Unsoundness of mind’. Marks : 5

OB WBRTOF' O 1} O LTS WSO,
OR/&5s

Define Public Servant.
T RIT ZeT - 39,979, QR0.

P.T.O.
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Q. No. 2.

Q. No. 3.

(@)

(a)

2 O A

UNIT -1l
Explain the defence of ‘mistake of fact’ in the Indian context.
md@d@meﬁ%ow:bdoé “Rongod SR gy @36@0@@{ QWORO.
OR/e5se

Explain the provisions of the Indian Penal code, relating to the
offences by or relating to a public servant.

T BB BERTIN ROLODAT £330 L9BIO0TINT I3T0E3 BoOBD 2003
T0T B0&Z0D YUTRIOTNFR) DFORD.

What is sedition and explain its ingredients.
TORTIR,EE DOTITEI 2B LTIT 90BN, DTORD.
OR/e5e

‘A’ is at work with a hatchet, the head flies off and kills a man
who is standing by. Decide the liability of ‘A’.

‘A D BRBOOCT FOR mcgagcgm 9030 B0 0T RN TITTE
QoBFRRT. uwﬁdg{ R0, BRI m%maéojadg{ QR OR0.

UNIT -1l

Explain the ingredients of the offence of culpable homicide with
illustrations.

NTHTTRNRODN “ TWOHE ITHG,” BTG u%oﬁﬁ%ﬁ@t QWOD.
OR/e5

Explain the circumstances under which hurt amounts to grievous
hurt.

MOC0FY) O3 ROTLIETIHE) €33 M0 0T0TONIZT aﬁg@dda& QWORD.
Explain the offence of ‘Assault’.

‘B o @@’U@tﬁd@ QWORO.
OR/&5

Marks : 15

Marks : 5

Marks: 15

Marks : 5
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Q. No. 4.

(@)

A shakes his fist at B, intending or knowing it to be likely that he
may thereby cause B to believe that A is about to strike B.
Whether A has committed any offence ?

‘A’ R'B’ A BRE030EF0L) SOt V00 BRET STEBOOT L5
2330 Tori FOLOES BOFRRTOI0T0 YR AT R B’ A 33 TOKCDR)
BTOFROTE. ‘A’ B0 0IRTF)TRTTR BTG SR ETFIE ?

UNIT -1V

“In all robbery there is either theft or extortion” - Explain.
‘g ROR0D STOIGNGY 39 2w wmc%a%’sa QTE BT 7.
8
WORD.
OR/&5s

What is kidnapping from lawful guardianship ? How does it differ
from abduction ?

DERIT BT, 0T & HERORITO 0TV ? QT HHETLa00T Ferd
é)zf:)dotmﬂd 2

Write short notes on “Criminal Breach of Trust”.

‘STOIRE ToWF TR e®' T 2078 0 835363 B0,

OR/&5

A, by Pledging diamond articles which are not diamonds,
dishonestly induces ‘B’ to lend money. Decide the liability of ‘A’
with reasons.

TENFOROTO EPTR T SANTR e RFoLwTN ‘A’ 0 8RS
ROB, mws% O ZRED ‘B’ 55& ST, RIREIFIN & eTeRRTE,
‘A3 mﬁmaéoja&l BIVLANGLOAN JeIF CWO.
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Marks: 15

Marks : 5
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UNIT-V

Q.No.5. (a) Explainin brief the offences relating to marriages. Marks : 15

@m&% TOWORRT @@’quﬁmf@t #oé@’mﬂ QWORD.

OR/e50

Explain the ingredients of the offence of ‘Mischief’.
‘BerY LITWOOTH ;yw@oémfabq ( u%oémfo) QDRORO.

(b) Write short notes on ‘Criminal Trespass’. Marks : 5

‘TWOGT 98806’ T wrﬁ\ OO 83 LWTOUD.

OR/&5

Write note on cruelty by husband and his relatives.

BECD e SBI BOWORTPOT F3,3, T3 Wit LTESOIR), 2BCA0.




